x = —b% Jb7 —4dac Can be written as: X = E_b
2a y , a

- =b . Jb% —4ac
) 2a ~ 2a
LOS —/ \_ ?

_ —hE b —dac oo\ o witten as: Find all real solutions to the . -b+ Jb*-4dac
= 2a ' nearest hundredth. Kpass =

6x2+7x-20=0

x = =2+ [b® —4ac b2-UYac= 5729
=< . ~S29
-z =//33y, —L.5
LOS —/ \— Distance from >< = /2 J

LOS to both
x-intercepts.



Find all EXACT Real Solutions. Oy Find all EXACT Real Solutions. b+ PP —4ac

x2+3 = 5x o .

2a 2a
2— —_— m—
o — S5y 43=0 x*—8x—-2=0

b? —4ac = —7 2__

b2 —4ac = |3

5237 |50 FEhe . 8

=
2 — =
=|lyr3
Find all EXACT Real Solutions. Oy Find all EXACT Real Solutions. S < oy
xX= —— X= ———
2a 2a
42 -20x+7 = 0 ‘ 3x2 —2r—9 = 0 ‘
b?> —4ac = 2/?2 19
b% —4ac =
17 N
11"{\17_/: L iyd7 | 2247

/\//Lm-z\ - b =1 3
" 20+ 1252 _5+37z
2020158 202R5 _2ril=

% g



Find all Exact Real Solutions. b+ Jb?—4ac

X =

2a
16x2 —56x+49 =0
b2 —dac= (D
St ¢
B 35 =S
You can now finish Hwk #13 Sec 5-8
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Problems 7-9)(22-24, 28) Due Tomorrow

[\

Find exact Find exact solutions and solutions rounded to
solutions the nearest hundredth.

only. S e————

Find all Exact Real Solutions.  bi Jp?—dac
S 2a
Ix*+3x+4 =0
b*—dac= — (D>

NO Real Sg|

2 What part of the Quadratic Formula
b+ Jb2—-4ac
X = bz Jb dac determines if there are Real solutions
2a or not?

b? - 4ac ———— This is called the DISCRIMINANT

Depending on the value of the DISCRIMINANT
you can determine how many and what kind
of solutions there will be.



What are the only three values the DISCRIMINANT can be?

s

Discriminate: recognize a distinction; differentiate

NG
P
2ero
Discriminant # and kind of solutions Tell the number of solutions each quadratic equation has and if they
are real or imaginary.
1. X2 +8x-3=0 2. 2x%-7x+8 =0
b2-4ac>0 2 Real Solutions bz’Véé 90 bR ates e ST
e [ 2CT 6 KM{
. . 3. -3x%-4x+5=0 4. 2x2-’2\())x+50=
b*-4ac=0 1 Real Solution \07’?:“{6((//7(” ol —Yac =0
rec )
_ 5. 4x2 +7x-2 =0 rea
b2 - 4a¢ < 0 0 ReaI_Squtlons or L2 —Yac =(7]
2 Imaginary Solutions 2= ra

For some of these equations you can tell that there will be 2 Real solutions
without doing anything. Which ones? vq can tell that #s 1 and 3 have two

real solutions without finding the
Discriminant.



A Quadratic Equation always has two real
solutions if:  b?- 4ac is POSITIVE

b? - 4ac will ALWAYS be Positive if:

Either a OR c is negative.

An object is shot into the air from the top of a 100 foot tall building.
The following equation models the height (ft) of the object as a function

of time (sec). }
h(t) = -16t2 + 200t + 100
v (e \n

\/-@T’-\{)C
a) Find thefmaxheight and the time to reach it. /\

LosS: j(f—"z_b\o = (175 sec _usey

o WCGLS}

b) Find the time to reach the ground

=L -
O _ & solve this with
— %S 4200& /00 the quadratic formula.

b*-lac

How many x-intercepts does this Quadratic
Function have? Keo) S\

y=4x2-6x+3
lo=¢
This equation has no real

3(@ = %(Y)(_g) = —|2 solution, therefore, the

graph has NO x-intercepts

LeSae e



